Developing Physics-Integrated Computational Thinking Skills Assessment Instrument Using Rasch Measurement Model

Elisabeth Pratidhina^{1*}, Heru Kuswanto², Dadan Rosana³

^{1*} Department of Physics Education, Widya Mandala Surabaya Catholic University, Jalan Kaljudan 37 Surabaya, 60114, Indonesia

^{2,3} Department of Physics Education, Universitas Negeri Yogyakarta, Jl. Colombo No.1, Karang Malang, Caturtunggal, Sleman, Daerah Istimewa Yogyakarta, 55281, Indonesia

e-mail: ^{1*}elisa.founda@ukwms.ac.id, ²Herukus61a@uny.ac.id, ³danrosana@uny.ac.id * Corresponding Author

Abstract

Computational thinking skills (CT) are an essential skill for young generations. Integration of CT in physics has been studied widely since they are closely related to each other. However, instruments to assess CT in physics problem-solving are still limited. This study aims to develop a physics-integrated CT assessment instrument. Multiple choice items were developed and reviewed by experts in physics education. A pilot study is conducted with 121 undergraduate students. Based on the empirical data on the pilot study, the Rasch analysis using Winstep is conducted. The final instrument consists of 24 multiple-choice items. Each item has MNSQ in the range of 0.82-1.17. The ZSTD is in the range of -1.92-1.99 which can be classified in fit. Calculation with the Rasch model for 24 fit items shows person reliability of 0.81, item reliability of 0.89, and alpha Cronbach of 0.89. Those values can be classified as good. **Keywords:** CT; physics; Rasch model; assessment

How to Cite: Pratidhina, E., Kuswanto, H., Rosana, D. (2023). Developing Physics-Integrated Computational Thinking Skills Assessment Instrument Using Rasch Measurement Model. *Jurnal Pendidikan Fisika dan Keilmuan (JPFK)*, 9(2), 161-171. doi:http://doi.org/10.25273/jpfk.v9i2.20744

INTRODUCTION

In the developed digital era, cultivating computational thinking (CT) skills for young generations has become a growing important need (Acevedo-Borrega et al., 2022; Hsu et al., 2018). CT is necessary to build problem-solving and creativity. Hence, some efforts have been made to incorporate CT development into the college curriculum, especially in Science, Technology, Engineering, and Mathematics (STEM) disciplines (Li et al., 2020; Swaid, 2015).

CT are fundamental skills, just like writing, reading, and arithmetic skills (Barr et al., 2011). CT are problem-solving processes consisting of decomposition, abstraction, algorithmic thinking, generalization, and evaluation (Voon et al., 2022; Yin et al., 2020). Decomposition is a method of breaking down a system or problem into parts that are easier to manage or solve (Kwon & Cheon, 2019; Rijke et al., 2018). Abstraction is the process of eliminating unnecessary information in a system so that the system becomes simpler and focuses on only relevant information (Fagerlund et al., 2021). Algorithmic thinking is the ability to design and execute a sequence of logical steps to produce good performance (Katai, 2015). Generalization is identifying patterns, similarities, and relationships between data or

objects (Saxena et al., 2020). Evaluation is the process of ensuring that a solution is appropriate and appropriate for the stated purpose.

CT has become essential for science, technology, engineering, and mathematics (STEM). Problem-solving in STEM requires a lot of CT (Li et al., 2020). The Next Generation Science Standards (NGSS) have included CT as part of core science practices (NGSS, 2013). Developing CT in science classes is something that needs to be considered. Several studies have been conducted to integrate CT into STEM learning. For example, Yin et al (2019) tried to integrate CT with physics and engineering learning through the maker activities they designed. Sengupta & Kinnebrew (2013) have tried to improve students' CT by using simulations and modeling to provide an understanding of kinematics concepts. Hutchins et al. (2020) designed collaborative computational STEM (C2STEM) as a scaffolding in physics learning in secondary schools using a computational modeling approach. Game-based learning has also been used to improve CT (Yoon & Khambari, 2022).

CT and physics are closely related. To solve real physics problems, scientists should have a good CT. CT should be inserted in fundamental physics course in college. There are some teaching approaches and methods which can be implemented such as explained in (Lane et al., 2023; Orban, 2020; Weller et al., 2022)

Besides the teaching approach, assessment is another essential part of the learning process. Assessing CT has become another concern research topic. Several studies have been done to develop CT assessment methods and instruments (Cutumisu et al., 2019; Tang et al., 2020). However, assessment instruments that assess CT in the context of physics problem-solving is still limited. Since assessment is another essential part of the learning process, it is necessary to develop a CT-integrated physics problem-solving assessment instrument with good quality. The objectives of this study are to develop test instruments to assess CT in the context of physics problem solving, to be specific in the material of electricity. The validity and reliability of the test instruments are investigated in this study.

METHODS

This study aims to develop a test instrument to assess the CT of students in the context of solving physics problems, to be specific on the material of electricity. The test instrument type is multiple choice. There are several steps followed to develop the instruments, i.e.

- 1. Define the construct and develop the items
- 2. Conduct pilot testing
- 3. Applying the Rasch model
- 4. Review the item fit statistics and revise items if needed
- 5. Establish validity and reliability

The subject of the pilot testing is 121 undergraduate students who take fundamental physics courses. The Rasch model is employed to determine the validity and reliability of the instruments. We use Winstep to facilitate the calculation of Rasch analysis.

RESULTS AND DISCUSSION

Define the Construct and Develop the Items

The construct in this test instrument is measuring CT aspects in the electricity material context. There are 5 main aspects of CT to be measured, i.e. abstracting, decomposition, algorithmic thinking, pattern generalization, and evaluation. The formal definitions of CT aspects in the physics context are defined in Table 1. Based on 5 main aspects, indicators are developed as shown in Table 2. Initially, there were 30 items developed. Figure 1-5 shows the sample item for each CT aspect.

No	CT aspects	Definitions
1	Abstraction	Modeling physical systems with representations that are simpler and easier to understand by removing unnecessary details and preserving the important parts.
2	Decomposition	Break down a physical system into several parts that can be handled easier
3	Algorithmic thinking	Solving problems or achieving goals through systematic and well-defined steps
4	Pattern generalization	Identifying patterns, similarities, and relations among quantities and applying them to understand related phenomena
5	Evaluation	Valuating the correctness of the algorithm, abstraction, model, experimental design, or simulation based on the purpose and assumption set.

Table 1. C	Aspects	in Physics	Context
------------	---------	------------	---------

Topics	Aspect	Item indicator	Number of items	ltem code
Modeling	abstraction	Identify the type of circuit in the breadboard	2	A1, A2
electrical phenomena on		Draw the circuit in the breadboard diagrammatically	2	A3, A4
direct current		Identify closed circuit in the breadboard	2	A5, A6
(DC) circuits and applying them to solve	Decompositions	Break down a complex resistor circuit into series or parallel circuits to determine the total resistance	2	D1, D2
problems related to		Using Kirchhoff's rule to analyze current in a multiloop circuit	2	D3, D4
current, resistance,		Using Kirchhoff's rule to analyze voltage in a multiloop circuit	2	D5, D6
ohm's law, power, energy	Algorithmic thinking	Design a circuit that has a specific voltage or current	2	AT1, AT2
Kirchhoff's rules, and simple DC	C C	Compile the steps for using the most appropriate measuring instrument to measure electrical quantities	2	AT3, AT4
circuits.		Implementing the RC circuit controller program flowchart	2	AT5, AT6
	Pattern generalization	Analyzing changes in the resistance of an electrical circuit component based on the V-I graph pattern	1	PG1
		Predicting the V-I relationship in a combined circuit of several resistors	2	PG3, PG4
		Estimate the magnitude of current in a circuit based on the experimental data presented	1	PG6
		Construct a mathematical model of Ohm's law	1	PG2
		Construct a mathematical model of capacitor voltage	1	PG5
	Evaluation	Comparing time constants in RC circuit	2	E1, E2
		Compare the energy dissipated in each resistor	2	E3, E4
		Evaluate the how-to-use of electrical measuring instruments correctly	2	E5, E6

Table 2. CT aspects, physics topics covered, and indicators

Developing Physics-Integrated Computational Thinking Skills Assessment ...









164





Figure 3. Sample of Items Measuring Algorithmic Thinking

Seorang mahasiswa hendak mencari tahu faktor-faktor yang mempengaruhi hambatan (R) penghantar listrik. Ia melakukan percobaan dengan batang tipis yang terbuat dari 3 jenis bahan dengan berbagai ukuran panjang (x) dan diameter (d). Hambatan berbagai kawat tersebut diukur dengan menggunakan ohmmeter. Berikut adalah hasil percobaan mahasiswa tadi.

Jenis Bahan	Panjang <i>x</i> (cm)	Diameter d (mm)	Hambatan <i>R</i> (ohm)
	10	0.05	4.8
	20	0.05	9.6
Bahan A	30	0.05	14.3
	30	0.1	3.6
	30	0.2	0.9
	10	0.05	111
	20	0.05	222
Bahan B	30	0.05	333
	30	0.1	83.2
	30	0.2	20.8
	10	0.05	10.1
Bahan C	20	0.05	20.2
	30	0.05	30.3
	30	0.1	7.6
	20	0.2	1.0

A. $R = \Im \frac{x}{d^{2^{2}}}$ dengan \Im merupakan konstanta yang bergantung pada bahan B. $R = \Im \frac{x}{d^{2^{2}}}$ dengan \Im merupakan konstanta universal dan tidak dipengaruhi oleh bahan

C. $R = \Im \frac{x^2}{d^2}$ dengan \Im merupakan konstanta yang bergantung pada bahan

D. $R = \Im \frac{d}{x^{2'}}$ dengan \Im merupakan konstanta universal

E. $R = \Im \frac{d}{2}$, dengan \Im merupakan konstanta yang bergantung pada bahan

Jawaban: A

Pembahasan:

Berdasarkan percobaan dengan bahan A, B, dan C, batang yang diameternya sama, panjang batang (x)berbanding lurus dengan hambatan (R):

 $x \sim R$

Saat x dinaikan menjadi 2 kali, hambatan juga naik 2 kali. Saat x dinaikan menjadi 3 kali, hambatan juga naik 3 kali.

Sementara itu, dengan panjang yang sama, saat diameternya dinaikan, hambatan justru turun. Saat diameter dinaikan 2 kali, hambatan turun menjadi ¼ kali semula. Sehingga dapat disimpulkan,

$$\frac{1}{d^2} \sim R$$

Dua relasi di atas digabung menjadi:

$$R \sim \frac{x}{d^2}$$
$$R = \Im \frac{x}{d^2}$$

3 merupakan konstanta yang nilainya bergantung pada jenis bahan. Ini dapat dilihat dari data yang ditampilkan bahwa walaupun panjang dan diameter batang sama, nilai hambatan berbeda untuk bahan vang berbeda.

 $\tau_3 = (R_3 + R_L)C_3 = 30C + R_LC$

Konstanta waktu yang paling besar

dimilki oleh rangkaian C₃ sehingga

lampu L₃akan bertahan paling lama.

Perhatikan desain rangkaian berikut ini. Jawaban: E Pembahasan: 15 Ω 30 Ω 5Ω Saat sumber tegangan dimatikan, maka akan terjadi pengosongan muatan pada setiap kapasitor. Ini C_1 mengakibatkan tegangan kapasitor C_2 C_3 berkurang hingga mencapai nol. Cepat -11F tidaknya tegangan berkurang $\varepsilon = 24 \text{ V}$ bergantung pada konstanta waktu auRangkaian tersusun atas 3 buah resistor, 3 buah lampu, dan 3 buah kapasitor. Sumber yang besarnya RC. Jika t besar, tegangan yang dipakai adalah 24 volt. Lampu dan kapasitor yang dipakai semuanya pengurangan tegangan lambat identik. sehingga lampu lebih lama dapat Setelah ketiga lampu menyala cukup lama, tiba-tiba sumber tegangan mati. menyala. Pernyataan manakah yang benar sesaat sumber tegangan mati? $\tau_1 = (R_1 + R_L)C_1 = 5C + R_LC$ a. Ketiga lampu akan langsung mati. $\tau_2 = (R_2 + R_L)C_2 = 15C + R_LC$

Figure 4. Sample of Item Measuring Pattern Generalization

- b. Ketiga lampu tidak langsung mati, tapi meredup bersama.
- c. Lampu L2 akan tetap menyala sesaat, L1 dan L3 langsung mati.
- d. Seluruh lampu akan tetap menyala sesaat, L1 akan bertahan paling lama.

Figure 5. Sample of Item Measuring Evaluation Aspect

- e. Seluruh lampu akan tetap menyala sesaat, L3 akan bertahan paling lama.

The developed items are then reviewed by physics and physics education experts to determine each item's quality. There are 5 experts involved. Experts are asked to give scores between 1-4 for each item based on the given rubrics. As shown in Table 3, expert judgment on all items can be classified as very good. The judgments from the 5 experts all are consistent with the acceptable V Aiken index (Aiken, 1985).

			Scores							V/a Aikan
Νο	Code	Val 1	Val 2	Val 3	Val 4	Val 5	Average	Classification	Index V	Interpretation
1	A1	4	4	4	4	4	4.00	very good	1.00	fulfilled
2	A2	4	4	4	4	4	4.00	very good	1.00	fulfilled
3	A3	4	4	4	4	4	4.00	very good	1.00	fulfilled
4	A4	4	4	4	4	4	4.00	very good	1.00	fulfilled
5	A5	4	4	4	4	4	4.00	very good	1.00	fulfilled
6	A6	4	4	4	3	4	3.80	very good	0.93	fulfilled
7	D1	4	3	4	4	4	3.80	very good	0.93	fulfiled
8	D2	4	4	4	4	4	4.00	very good	1.00	fulfiled
9	D3	4	4	4	4	4	4.00	very good	1.00	fulfiled
10	D4	4	4	4	4	4	4.00	very good	1.00	fulfiled
11	D5	4	4	4	4	4	4.00	very good	1.00	fulfiled
12	D6	4	4	4	4	4	4.00	very good	1.00	fulfiled
13	AT1	4	4	4	4	4	4.00	very good	1.00	fulfiled
14	AT2	4	4	4	4	4	4.00	very good	1.00	fulfiled
15	AT3	4	4	4	4	4	4.00	very good	1.00	fulfiled
16	AT4	4	4	4	4	4	4.00	very good	1.00	fulfiled
17	AT5	4	4	4	4	4	4.00	very good	1.00	fulfiled
18	AT6	4	4	4	3	4	3.80	very good	0.93	fulfiled
19	PG1	4	3	4	4	4	3.80	very good	0.93	fulfiled
20	PG2	4	4	4	4	4	4.00	very good	1.00	fulfiled
21	PG3	4	4	4	4	4	4.00	very good	1.00	fulfiled
22	PG4	4	4	4	4	4	4.00	very good	1.00	fulfiled
23	PG5	4	4	4	4	4	4.00	very good	1.00	fulfiled
24	PG6	4	4	4	4	4	4.00	very good	1.00	fulfiled
25	E1	4	4	4	4	4	4.00	very good	1.00	fulfiled
26	E2	4	4	4	4	4	4.00	very good	1.00	fulfiled
27	E3	4	4	4	4	4	4.00	very good	1.00	fulfiled
28	E4	4	4	4	4	4	4.00	very good	1.00	fulfiled
29	E5	4	4	4	3	4	3.80	very good	0.93	fulfiled
30	E6	4	4	4	4	4	4.00	very good	1.00	fulfiled

Table 3. Experts' Appraisal of the Developed Items

Pilot Test and Analysis Using Rasch Measurement Model

A pilot test is done by administering the prototype measurement instrument to a sample of the target population. The result of the pilot test is used for Rasch analysis. There are 121 undergraduate students, who are taking fundamental physics courses, participated in this pilot test. Calculations with the Rasch model for initial items are presented in Table 4.

Item	Infit MNSQ	Infit ZSTD	Point Measure
			Correlation
A4	1.73	6.90	-0.15
E3	182	6.96	-0.03
D3	1.75	5.98	0.02
A5	1.04	0.42	0.37
PG6	1.11	1.19	0.39
PG2	1.08	0.94	0.43
A3	1.07	0.50	0.31
AT6	1.06	0.67	0.45
PG5	1.00	0.01	0.41
PG3	1.02	0.28	0.47
E4	1.02	0.24	0.49
D6	0.99	-0.07	0.50
PG1	0.95	-0.45	0.53
D5	0.93	-0.71	0.53
PG4	0.90	-1.13	0.49
A6	0.91	-1.07	0.55
A2	0.88	-1.36	0.57
A1	0.87	-1.47	0.59
D2	0.87	-1.49	0.59
E1	0.86	-1.62	0.58
AT3	0.85	-1.29	0.48
AT1	0.84	-1.81	0.56
AT2	0.84	-1.90	0.59
AT4	0.83	-2.04	0.58
E5	0.83	-1.94	0.56
E2	0.82	-1.93	0.55
E6	0.82	-1.92	0.55
D1	0.76	-2.80	0.60
D4	0.76	-2.91	0.66
AT5	0.74	-3.17	0.62

Table 4. Results of MNSQ, ZSTD, and Point Measure Correlation Calculations in the Initial Design of CT Instruments

The infit MNSQ and ZSTD are presented in Table 4. Some items are not fit, i.e. A4, E3, D3, AT4, D1, D4, and AT5. We decided to remove A4, E3, D3, AT4, and AT5 since their respective indicator has been represented by another item. Items D3 and D4 represent the same indicator, hence we decided to remove only one of them, that is D3. After the removal of some items, there are 24 items in the instrument draft. Rasch analysis is conducted again, the results are presented in Table 5.

Item	Item Infit MNSQ		Point Measure Correlation	
A5	1.05	0.59	0.37	
PG6	1.17	1.99	0.40	
E4	1.17	1.44	0.53	
PG1	1.12	0.87	0.60	
PG2	1.14	1.46	0.48	
A6	0.95	-0.53	0.56	
A3	1.05	0.39	0.31	
D6	1.06	0.75	0.51	
PG5	1.04	0.49	0.40	
AT6	1.10	0.96	0.54	
PG4	1.00	0.07	0.45	
D5	1.05	0.51	0.56	
PG3	1.05	0.60	0.54	
D2	1.00	-0.01	0.58	
AT3	0.93	-0.61	0.41	
E1	1.00	0.05	0.54	
A1	0.95	-0.38	0.62	
A2	0.90	-1.08	0.61	
AT1	0.87	-1.69	0.53	
E2	0.87	-1.57	0.51	
E5	0.87	-1.61	0.52	
AT2	0.86	-1.62	0.61	
E6	0.85	-1.76	0.51	
D4	0.82	-1.92	0.66	

 Table 5. Results of MNSQ, ZSTD, and Point Measure Correlation Calculations on

 CT Instruments After Non-Fit Items Were Removed

As presented in Table 5, all items have MNSQ in the range of 0.82-1.17. The MNSQ between 0.5 and 1.5 is productive for the measurement (Linacre, 2012). The ZSTD is in the range of -1.92-1.99 which can be classified in fit. Point measure correlation determines the item discrimination. As shown in Table 5, all items have a point measure correlation between 0.31-0.66. Point measure correlation above 0.4 is very good, and between 0.30-0.39 is good (Utari et al., 2021). Calculation with the Rasch model for 24 fit items shows person reliability of 0.81, item reliability of 0.89, and alpha Cronbach of 0.89 (see Table 6). Those values can be classified as good (Dzin & Lay, 2021; Fisher, 2018).

 Table 6. Cronbach's Alpha (KR-20), Item Separation, Item Reliability, Person

 Separation, and Person Reliability Values of the Instrument

ooparation, and 1 010	on nonability valabo on a	
	Separation Index	Reliability Index
Cronbach's alpha (KR 20)		0.89
Item	2.86	0.81
Person	2.07	0.89

CONCLUSION

In this study, we have developed multiple-choice test items to evaluate students' CT in the context of electricity material. The 24 items in the physics-integrated CT test were accepted and validated by Rasch analysis. This evaluation instrument can be used for further research studying the CT development in undergraduate fundamental physics classes.

REFERENCES

- Acevedo-Borrega, J., Valverde-Berrocoso, J., & Garrido-Arroyo, M. D. C. (2022). Computational Thinking and Educational Technology: A Scoping Review of the Literature. Education Sciences, 12(1). https://doi.org/10.3390/educsci12010039
- Aiken, L. R. (1985). Three Coefficient for Analyzing the Reliability and Validity of Ratings. Educational and Physchological Measurement, 45.
- Barr, D., Harrison, J., & Conery, L. (2011). Computational Thinking: A Digital Age Skill for Everyone. Learning and Leading with Technology, 38(6), 20-23. http://quijote.biblio.iteso.mx/wardjan/proxy.aspx?url=https://search.ebscohost.com /login.aspx?direct=true&db=ehh&AN=59256559&lang=es&site=edslive%5Cnhttps://content.ebscohost.com/ContentServer.asp?T=P&P=AN&K=5925 6559&S=R&D=ehh&EbscoContent=dGJyMMTo50Sep6
- Cutumisu, M., Adams, C., & Lu, C. (2019). A Scoping Review of Empirical Research on Recent Computational Thinking Assessments. Journal of Science Education and Technology, 28(6), 651-676. https://doi.org/10.1007/s10956-019-09799-3
- Dzin, N. H. M., & Lay, Y. F. (2021). Assessing the Validity and Reliability of Science Multiple Choice Test Using Rasch Dichotomous Measurement Model. Journal of Baltic Science Education. 20(6), 927-941. https://doi.org/10.33225/JBSE/21.20.927
- Fagerlund, J., Häkkinen, P., Vesisenaho, M., & Viiri, J. (2021). Computational thinking in programming with Scratch in primary schools: A systematic review. Computer Applications in Engineering Education, 29(1), 12-28. https://doi.org/10.1002/cae.22255
- (2018). Rating Ρ. Scale Instrument Quality Fisher. W. Criteria. https://www.rasch.org/rmt/rmt211m.htm
- Hsu, T. C., Chang, S. C., & Hung, Y. T. (2018). How to learn and how to teach computational thinking: Suggestions based on a review of the literature. Computers Education. 126(July), 296-310. and https://doi.org/10.1016/j.compedu.2018.07.004
- Hutchins, N. M., Biswas, G., Maróti, M., Lédeczi, Á., Grover, S., Wolf, R., Blair, K. P., Chin, D., Conlin, L., Basu, S., & Mcelhaney, K. (2020). C2STEM : a System for Synergistic Learning of Physics and Computational Thinking. Journal of Science Education and Technology, 29, 83–100. https://doi.org/https://doi.org/10.1007/s10956-019-09804-9
- Katai, Z. (2015). The challenge of promoting algorithmic thinking of both sciences- and humanities-oriented learners. Journal of Computer Assisted Learning, 31, 287-299. https://doi.org/10.1111/jcal.12070
- Kwon, K., & Cheon, J. (2019). Exploring problem decomposition and program development through block-based programs. International Journal of Computer Science Education in Schools, 3(1), 3-16. https://doi.org/10.21585/ijcses.v3i1.54
- Lane, W. B., Galanti, T. M., & Rozas, X. L. (2023). Teacher Re-novicing on the Path to Integrating Computational Thinking in High School Physics Instruction. Journal for STEM Education Research, 6(2), 302-325. https://doi.org/10.1007/s41979-023-00100-1
- Li, Y., Schoenfeld, A. H., diSessa, A. A., Graesser, A. C., Benson, L. C., English, L. D., & Duschl, R. A. (2020). On Computational Thinking and STEM Education. Journal for STEM Education Research, 3(2), 147-166. https://doi.org/10.1007/s41979-020-00044-w
- Linacre, J. M. (2012). Winsteps Help for Rasch Analysis.
- Orban, C. M. (2020). Computational Thinking in Introductory Physics. The Physics Teacher, 58, 247. https://doi.org/10.1119/1.5145470
- Rijke, W. J., Bollen, L., Eysink, T. H. S., & Tolboom, J. L. J. (2018). Computational

thinking in primary school: An examination of abstraction and decomposition in different age groups. *Informatics in Education*, *17*(1), 77–92. https://doi.org/10.15388/infedu.2018.05

- Saxena, A., Lo, C. K., Hew, K. F., & Wong, G. K. W. (2020). Designing Unplugged and Plugged Activities to Cultivate Computational Thinking: An Exploratory Study in Early Childhood Education. *Asia-Pacific Education Researcher*, *29*(1), 55–66. https://doi.org/10.1007/s40299-019-00478-w
- Sengupta, P., & Kinnebrew, J. S. (2013). Integrating computational thinking with K-12 science education using agent-based computation: A theoretical framework. *Education and Information Technologies*, *18*, 351–380. https://doi.org/10.1007/s10639-012-9240-x
- Swaid, S. I. (2015). Bringing Computational Thinking to STEM Education. *Procedia Manufacturing*, 3(Ahfe), 3657–3662. https://doi.org/10.1016/j.promfg.2015.07.761
- Tang, X., Yin, Y., Lin, Q., Hadad, R., & Zhai, X. (2020). Assessing computational thinking: A systematic review of empirical studies. *Computers and Education*, 148, 103798. https://doi.org/10.1016/j.compedu.2019.103798
- Utari, G. P., Liliawati, W., & Utama, J. A. (2021). Design and validation of six-tier astronomy diagnostic test instruments with Rasch Model analysis. *Journal of Physics: Conference Series, 1806*, 012028. https://doi.org/10.1088/1742-6596/1806/1/012028
- Voon, X. P., Wong, S. L., Wong, L. H., Khambari, M. N. M., & Syed-Abdullah, S. I. S. (2022). Developing Computational Thinking Competencies through Constructivist Argumentation Learning: A Problem-Solving Perspective. *International Journal of Information and Education Technology*, 12(6), 529–539. https://doi.org/10.18178/ijiet.2022.12.6.1650
- Weller, D. P., Bott, T. E., Caballero, M. D., & Irving, P. W. (2022). Development and illustration of a framework for computational thinking practices in introductory physics. *Physical Review Physics Education Research*, 18(2), 20106. https://doi.org/10.1103/PhysRevPhysEducRes.18.020106
- Yin, Y., Hadad, R., Tang, X., & Lin, Q. (2020). Improving and Assessing Computational Thinking in Maker Activities: the Integration with Physics and Engineering Learning. *Journal of Science Education and Technology*, *29*, 189–214. https://doi.org/10.1007/s10956-019-09794-8
- Yoon, C. S., & Khambari, M. N. M. (2022). Design, Development, and Evaluation of the Robobug Board Game: An Unplugged Approach to Computational Thinking. *International Journal of Interactive Mobile Technologies*, *16*(6), 41–60. https://doi.org/10.3991/ijim.v16i06.26281